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Arewer wll the apires ity

el guesrion is fotlowed by fonr aprivs otieved Ao b B fiind thae wivar dan | vprbiesns feut
aomed xhcrde by pronne b onn Ve ans e e I sir i spios Ty R
veste Beave chosen Cive ondy one amvwar fo ewel giiestlon. An esample s gl Puhis

T wliieh of the followiang vrop dies Ve bt i abeiniddngd gty

A Kenal

. Covon

CL Gironndnt

13, Cotton

The correct answer Is cotlon whicl is lettwred 1 and thavefire answer spuice 13 w

| Al |1 1) o

Think carefilly before vou shade (e anywer spaces; erase completely any ans
change.
" “m-*ﬁ"'" AV

Do all rough waork on this question paper

1. A source of fuel commonly available in ruril
areas of West Africa 18

A. Dbiogus.
B, kerosene
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14 | il
i "
- reRtil
15, 1740 mf of w ster was added o the sail "'III‘I ?
Meeticg] mt e
dingram §and 24 ml of water wils € leeted
i - (IS
| of the experiment, calculate the Peret Nty
U waler retnined o the soil -..1|I||I|I
A i3
i) 10.0
L 60, 0%
) 6.7
16.  Which of the followine siatements is nol
comect aboult micronutrients? They
A ict as catalysits and co-enzymes in
Erowing plants
] are required in small quanbitics.
{ are toxic when present in large quaniitics
D gare the most abundant elements n |_||-'|f|!
ll.hll.._':\
17 Which o =i . : :
f« Which of the following properties of soil are

-

o

IFand 111 only

D, 1, 1and 11l

I18. A major disadvantage of continuous cropping is

that it

A. requires huge capital investment.

B.  requires large hectares of farmland.

€. encourages displacement of farm workers,
D, encourages build-up of pests.

easily noticed in a soil profile?
| [exture
I Colour
11 i)

20

22,

P03

wWhich of the following pant

L boelic
by yum

A L.eave
B Roots
( Tubers
D Vines
Oil palm fruits are Scpar ied fron

mechanically by the use of

centrifugal machine

A,

L] SCrEw Press

{ maceralor,

D. roiating threshing drutn

Carrol is propagaied by

bulb.

Ihe dingram below illustrates a farm gpery
Lise it to answer guestions 23 fo 25




